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Name: Date:
Topic: Class:
Main Ideas/Questions | Notes/Examples
SOLVING @ Use the properties of exponents to SIMPLIFY each side of the equation.
EXPONENTIAI_ @ Rewrite the equation so both sides have the SAME BASE.
EQUATIONS @ Drop the bases and SET THE EXPONENTS EQUAL TO EACH OTHER.
Type 1 - Equations with a Common Base
1' 2.\’+1 — 29 2' 54H+5 — 5”-7
3' 3* 3}(+2 _ 35-‘—1 4. 10—4 109 _ 10\'+4 _102t'—11

Type 2 - Equations without a Common Base

5. 62710 _36 6.2"7 =8
7. 7411 _ 1 8.32-2""7°
7
9' 2721.‘*-6 — 32\ 10. 4_l'+2 — 16_\’—3

& Gina Wilson (All Things Alzebral, 2015
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11, 125" =25

12- 163.\' — 8_\’+2

13, 4% —g*!

14. 812.\'+5 — (ler
3

15. 82{1—1 _ 322|:J‘+1

16. 27°" = 243"

17. 64=4.4" 18, 924 g2 _ 1
81
19, l = 49x—5 . 7"'_9 20. 42.\’ i _ 46.\' +18
7 16

& Gina Wilson (All Things Alzebral, 2015
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** This is a 2-page document! **

Directions: Solve each equation using a common base.

March 07, 2017

Unit 7: Exponential & Logarithmic Functions \

Homework 2: Solving Exponential Equations

1. 931—? _ 95—.\' 2. 2\|-+4 . 24”-—6 _ 22u'+l
3.8 - 64 4, 1 _g+3
5
5. L _3n-1 6.216 =6 "
27

7. 23k—l ‘25.#—? -16

8.4"-4"7 64

& Gina Wilson (All Things Alzebra), 2015
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9.8"% -4

10. 125 =252"*1

11, 497! = 343%7

12,162 - 64" 2

12, 2734 _ 812!; +1

15. 16‘25:}1 _ 23m—8

17. 256" .16" 1_ 42_1' 22

18. 36" *.216" = 216"

& Gina Wilson (All Things Alzebral, 2015



Solving Exponential Equations with a common base.notebook March 07, 2017

Name: Date:

Topic: Class:

Main Ideas/Questions | Notes/Examples

SOLVING @ Use the properties of exponents to SIMPLIFY each side of the equation.

EXPONENTIAL | @) | Rewrite the equation so both sides have the SAME BASE.

EQUATIONS @ Drop the bases and SET THE EXPONENTS EQUAL TO EACH OTHER.
Type 1 = Equations with a Common Base

1.27*122° 2, 5%*5 577
X+1=9 Hn45= n-1l
An--12 n=-4
3. 3& ‘3.&-1-2 = 35k—1 4. 10—4 _109 - 10v+4 ‘102v—11
_ = v+ + 2v-il
Ktz = SK-) HE
5= 3v-T
2k +2 =5k~ 2= 3y
3=3k  |I=k =
Type 2 - Equations without a Common Base
5. 62710 =36 6.277 =8
{02)("10 - {gz 2(’7 = 23

-o=2 =
Zixlg:z P

7. 7%+l ,; 8.32=2""°
A ) 25 = 22"
#1) =1 5=2m-a "

qqu.:-tz X=3 I =2m J=m

9. Z?foﬁ =32x » 10. 4?"‘2 =16?"3
2 -

(gs)zxw =3 SEAL: =(_"| )ﬂ <

(ﬂ%‘f']g:ﬁ); U.q.g_: 23 -l

18 =2
-qiz :X. Ij lj 8:5
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11. 125" =25 12, 16* =8**2 42
(599 =57 ()™ - (2°)
3y=2 12X = 3X4
(5=43 axX=b
(x=23
13. 4% =g*! 205 _(1Y
(29.) 3X - (23Y("| 14. 812x+‘_5(3) 2x
e a3 B> -(37)
X = 3% IX+20 = -2X
3%x=-3 206 = -10X

15, g2 = 3%+

( za\jza-I - (2 5)2&-”

ba-3 = 10045

16. 27% = 2432
B2 (35"

bx =5x-10

_H%;izs i)(=-'|0l
17. 64=4.4% ay 18, 9%+ g% -.;'_1
3_y'. .
y>=4 .4 q 2 g - -2
3:-']"""')( 2)(+"l‘+zx=—2
2= HY Yy =-l

i Yo =X |

( X="3/2 j’

19. %= 49.1:-5 _7x-9

=07 P
_l = ZX"“O + X‘q
- = ax-19
|9 = 3% | =X

1 6x +18
20. 4*.— =4
16

2 -z 18
,_1)4_1_' ._.j_lGX‘J'

ZX"Z -.-:(g)("r)g

_J.{)(...z =g
—X =20

X=-5
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Homework 2: Solving Exponential Equations

** This is a 2-page document! **

Directions: Solve each equation using a common base.
1, 937 = g5% 9, pw+h twib _ 52w+l
5)(-1:—[ %—x w4 4w 2 2wl
H - SWHO = 2w +!
Hx=12 i =9
@ ' wW=--3
3.87% =64 g, L5
5
3b9+4 = Q2 5 =523
by+1=1 -} =243
ley=-2 -4 =2C
y=""3
Lo =l
3-3 - gl-hm-l
3=2r-il
-3 ="m-| WM =2
~224%m 1=r
-tz2=m
7. 2%-1.2%7 _16 8. 4" 479 _ 64
23\"' . 7_5k'1 = 2"' qn ) ._l‘?-r'i"ﬂ - ,_|3
3!"' +5k'-' :"‘* n+2r\_q - z
QU-g Y. n-q3
K=12 3n=12
(k;: _3/2 I Ih:l-l I
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9, Bx+2 =4
(23)1"{7-: 22.
x+l=2
3x=H

10, 125 =25%"*
53 -{5 z)'lhi‘l
3=Hh+2
1=Hh

11, 497+ =343%°
(Ar* (%)
2p42 = bp

2= Yy

12. 162 =642
(42) = (43
Zr-4 = 3rib
Y=+l

12, 27°" =g1+!
(-53)?") - (gq)zn-l-l
AQn =Yn+H

) )™

-4y = 20X-10
- 24y =-10

2x
14| [l) = 3241_2

15. 16- 25" =238
bm _ »3m-3
72" =2

Y+lem = 3m-8
3m = -12

16. [%)a [%]a _ 3l6-a
@)~ (3" =3
~20.-a = lb-o

-20-=\v

le-&

17. 256”7 -167"1 = 4222
SR

Hy+ 2y-2 = 2y-22
by -2=2y-22

Hy=-20 [y=-6

18. 36"3.216" = 2162"*}
(Oz n-3 .((as)h =@73)2““

-l +3n = bn+3
Bn-le=n+3




